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AP Calcu lus AB FRO #42

A coffeepot has the shape o f a c y l i n d e r w i t h rad ius § inches, as shown in the f igure

above. Let h be t h e d e p t h o f t h e coffee in t h e p o t . n e n s n r e d in inches. where b i s a C S

func t i on o f t i m e f. measured k i seconds. T h e v o l u m e V of coffee in t h e pot is

chang ing at the r a t e o f ? S x V h cub i c inches pe r second. ( T h e vo lume V o f a ev t inder

with radius r a n d height A is V = xr7h.}

dh v i v(n) Show that B o |

d i i

(b) Given that A = 17 at time ¢ = 0. solve the differential equation + = w t f o r h i n

A as a function of t.

(c) At what time / is the coffeepot empty? -
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